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1- Saving- investment gap. 
2- Harrod. 
3- warranted. 
4- Foreign exchange gap.
5- Fiscal gap.
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1- Chenery and Bruno. 
2- Mackinon. 
30 Chenery and Straut. 
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1- Bacha. 
20 Fanelli etal. 

30 Taylor. 
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10 Sepehri and Akram Lodhi.
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   �#�� ����� pBV ��     <�1 <�"� Y�� ����  ?  ��
 ���5 X*�
  ?   �� $��T 6"� ��    �����

        <��)� D���� |����� 6"�� � ���" X*�
 Y�� ���� ���� G�E1 �
 �1�� ��K/��  ��

��1 �/1���� ���� ���+ ���"� ��-/+� �1� ��� �� �
 .  

������ ���� ���� �	 
���� 
����� ����� �����)  ���
 � ���� 
������GDP�!"��  (
*

  

�
�
�
�

�
 �

� 	



�
�


�

� �
�

�
)
 

U(
 

)
 

�
�

�



 (

�
�

 
�
��

��
�

�
�
�
�

 
)
 

sf
 (

  

)
 

�
�
�
�
 �

�
�
�
�
�

 (

�
�

�
��

��
�

�
� 

�
�

!
"

�
)
 

sp
15

(
 

)
 

�
�

�



 (

#
��



�
�

)
 

x
2

(
 

)
 

�
�

�



(

#
�


�
�$

�
�
�

"
�
 %

�
&

'
�
*

)
 

m
g

2
(

 

)
 

�
�

�



(

#
�


�
�$

+
�
�
�
�

�
 %

�
&

'
�
*

%
�

)
 

m
z

2
(

 

)
 

�
�

�



(

�

�
�$

#
+

,
�

�$
 %

�
&

'
�
*

%
�

)
 

m
k

2
(

  

)
 

�
�

�



(

+
�
�
�
�

�
�
�-

.
�

�
!

"
�

 %
)
 

ip
2

(
 

)
 

�
�

�



(

+
�
�
�
�

�
�
�-

.
�



/$



 %

)
 

ig
2

(
 

)
 

�
�

�



(

 0
*
 �

�
/!

1
A

ctgdp
  

)
 

�
�
�
�
 �

�
�
�
�
�

 (

�
�
�

��/����/�����	/����/����/���/�

/���/	��/��	/��������	�����

��/����/�����/����/
��/���/�
�/�
�/��
/���/�������
	���
�

��/��

/���
��	/��
/���
/�
�/�
�/���/���/�	�/����
��	����
�

��/
�
�/��	� ���/����/����/�
�/���/��	/�
�/���/�
�����		���	�

*           � ������ �	�
	� ��
 �	���� ���� �	�� �	�� �� ��	���  ��� ������ �  	�   
�� ��	� ��	!"	� �   ���#�� �

$	� %&�'� �	� .  

�� ���  

               ��%r�� �� �����5 ��� �3�E�1 ��� ��C�� <��� (�/!#� ��/8�� ,") PQQQ ( �

  6"�"�� � ��%r�) eggg (             Y��� � <�]���� ������ ���=�� <�;� �� ������k� \�)�� ��

�� ��>� � ���� $��T �"� o�1 �� D���� �U9� ��1 .  

) P(  Actgdp= gdp+mk2

 ����9� ��) P (�k/�  �Actgdp           D�)> �� �
 ��� ��-/+� �9+�� �
 ����� �C���� 

 ���	8�� @����8�� \�-��;�) gdp (�m����� ����*W�
 $����� �  ��)mk2 ( ���T�[

��  ��1 .         ���"� ��-/+� �
 ��� <��� ��B� �/1I
 ���0�(W�)9�      @+��� ���3�v �� 
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 ���� / ������� /  ������  

�� ��
  �
 ���� �� ��
  

) e(  
q

Actgdp
u =  

��     � �1��u  � �!#�     ��-/+� �9+�� ����Actgdp    ��-/+� <�]��� ����� �� q 6��9� �� 

��  ��
 .        ��C�� ���/�� �� �&�� �)� �� ��-/+� �1� M��  �*���H   �� �� �����     �����

�m��� $��T ��) R (�1�� :  

) R(  g=ki1  

 �
g <�]��� ����� �1� M�� �C���� K, k>0     �"����� ��� ������ �"��%� |"��& � i1

(ICOR)  ���� M���"  ��I
   �" �I/q ��� .   (��)�&gn  ��V ��   ��
        ��� �� ��1� ��m��� 

$��Tg=g0+ki    p�#�"���g0  ��^7��    �"�������c ������           ��1� M��� ������ ���I�


<�%�         ����� �� <�]��� ����� �1� M�� �� ��
 ���<  �� ���
  ��
 .����   ��m��� ���A/�� 

)R (����� D��� �� �*���H�� ��c= �����   �
 p��

*k

K
 y= Actgdp= ��� ��
 ) K (

�"���� �1�!�� �C���� �  k*
��� ����� �� �"���� |"�&  .p"��� ��
I� �m��� �� :

  
*k

1
.

y

K

y

y
k.

y

I Δ=Δ=  

 �

*1

k

1
k,i

y

I ==��  �1�� .  

     �m��� �� ��-/+� ��&�]� �)� ��) t ( �� n��1       6�� ���#� �
 p��
45   ������ 

S ?�"���� ��I
 �i2�� ��B� ��  �*� :  

) t(  S=i2  

 �"���� �Z���V   ��I�
�) i2 (     X�A� �� ��� �� : �"�����   ��I�
  �T�-�8 �) ip2 (

�"����  ��I
   �/��� �ig2   � 45  �����     X�A� �� �� ��  : 4�5   ������    �T�-�8 SP15 ?

45  �����   �/��� Sg2   � 45  �����   �>��8 Sf  p��
 p�#]�   ?  ��m��� ��) y (�) d (  ��"�

�� �T�[ ��1 :  

) y(  I2=ip2+ig2  

) d (  S=SP15+Sg2+Sf  



  $%�&'�� �(�)� �* ��+,-.� 0�*� 1� 2�1%� �� ������� '�� 3*�*� ��+��"  

 �� ���
�       �"����� ����/3� D��� p�����   ��I�
    �T�-�8 �ip2        ��"� o��1 ��� �� 

���"p�# .  

) h(  0uigiip 202 >ββ+α+=  

�
  �= �� i0 �"����  ��I
� �]/#�   ?αig2  �"���� �C����   ��I
    |#[ �� �T�-8 �

�!"�&) α ( �"���� ��  ��I
   �/��� �ig2 �  βu  � �C�����"���   ��I�
     ��� �T�-�8 �

�!"�& |#[) β (��3�v �� <���/�� M�� ��) u (��� .  

        �"���� X"�Y3� �
 ��� 6"� �� 2�3 �0�"� ��  ��I
        ��"� ������� (b��� �/��� �

    �"���� '"�B� `��� ��-/+� �/8��  ��I
  �� �T�-8 �         _"���1 ����k� Y�� � ��1

 ���k� '"�� �� �&�]�u�"���� ��  ��I
 �T�-8 ���^7���  ���I
 .  

 ���/3� �m���45 ����� �T�-8 SP15�� 2�3 \�)9� �m��� ,"  �
 ��1 :  

) s(  SP15=δ0+ δ1u  

  �
δ1   �� �"�%� ��� �C���� 45 ����� � δ1u ��^7� �� �&�]� _"��1 ���k� 45  ������ �� 

<����� ���
��   � ��
δ0 lm� 45 ����� �]/#� ��� .  

 �m���45 ������/��� ) Sg2 ( �� ���� �"� |���� �1�� ���� :  

) Q(  Sg2=Z10-j4 = Z0+Z1u-J4  

  �
J4    F�� ���� �/8���5 <�%�   �*   �>��8 ����   � /�  ��kZ10       ��"� o��1 �� �  ���9

�� ��1 :  

) Pg(  Z10=Z0+Z1u  

 �
Z10 �� �"�%� ��� �� ������� �b� M�� �C���� 45 ������� w�#;� ����  ��1 .  

Z0       <����� ����� ����� �"�� �^�         F�K� ���� �BA� �^� � ������� �"�5 D�)>  ���= 

 �� ������� �b� M�� �� $�����<����� ���
��  ��
 .  

 �"���� $����  ��I
   �/��� �ig2   �� 45  �����   �/��� Sg2    2��]/�� �� ���� ����  

)P2 (�� ��B� �� �*� .  

) PP(  P2=ig2-Sg2  

   2��]/�� �� ���� ���� �
 ���� ��) P2 (� �)%� $��T ��  ��-�/+� �9+�� ����� �

 <�]��� ����� �� �)%� $��T �� �"��� .  
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�
 ���� / ������� /  ������  

 �� ��/�� �>��8 XA� ��  

) Pe(  mk2=a0+a1U  

 �� ��c=       �m��� ��*W�
 $����� ��/3� �
 p��
    ��Mk2         M��� �� �9���� ����� �� �� 

  ��3�v �� <���/��) U (� �� ��9  ��
 .   �"���� ��*W�
 ��&�]� <�C�=   ��I�
  �Mz2 

$��T �� ���"���� �� �9���  ��I
�9+�� �) i2 (�� i"�9� p��
 .  

) PR(  mz2=m0+m1i2  

|"��&  a0 �  m0  ����9� ��  ��*) Pe (�) PR (     ��*W�
 �]/#� XA� |���� ��

�m���    �� �"���� �  ��)      ����� �"�� �� �
�^��     �m���� $����� ���     ��  �"����� �   ��

 �� �T�[  ��1 (  �� ��EB� ��  ��*� .  |"�&m1   ���k�   �m��� �W�
 ��&�]�    �� ��

�"���� �[�� ," ���k� ���� ��I
�� ��B� �� � �*� .  

�m���) Pt (    �� ��B� �� $����T ��/3�     �
 �*�e1         � $�����T ��� �"�%� ��� e0 

����� �^���c   �� $����T �� ��3�v �� <���/�� M�� ��<����� ���
��  ��
 .  

) Pt(  x2=e+e1u

 �m���45 ����� �>��8 Sf� �� � �1�� �"� $��T �� ���� :  

) Py(  Sf=mg2+mk2+mz2+j4-x2

  �
x     � $����T �C���� mg2   �/��+� $����� �C����   � ��� .     �����9� X�A� 6�����) Py (

        ����> w�#�[ ��#�
 �C����)(φ             �/���+� $����� n����� D�)> $���T ��� mg ?

�m���    ��mk  �"���� �     ��mz ��  <�b�   ���5 <��%�         �>���8 2��]/��� ����� ��/8

 $����T ��%����� .  

     � ��9+�� ��)�+ |#�[�� \��� ��*��k/� ��	
 ���      ������ �� ���T�� ������

<�]��� ��� .�� ���
� G�E1 p����� �*�� � �� �� ���
  ���A/�� �"� o�1�
p� .

      �����9� ����)� 6"YC"��> 6)&) y (�) d (  ���;�� ��) t (     ����)� 6"YC"��> �

����9�  ��*) h(?) s( ?)Q( ?)Pg (�) Py ( <���= ��� �� ����9� �� ?   G�E�1 �����9�

45 ������� �T�[   �"� o�1 �� �
 ��1��� .  

) Pd (  ig2=C1u+C2  
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�  
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2

��� .  

       �����9� ����)� 6"YC"��> 6)& 6��Z)*   ���*) Pe) (PR (�) Pt (  �����9� �� 

)Py (>��8 ��� G�E1�� �T�[ �  �"� o�1 �� �
 ��1��� .  

) Ph(  ig2=d1u+d2  

�
  
)1(m
em

d
1
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1 α+

−β−α−=  

�  
)1(m

eJimmmga
d

1

0401020
2 α+

φ++−−−−−=  

��� .  

<�8{��  ���)� 6"YC"�> ) Q (   ��;�� ��ig2=sg2  ?       ���� �� �� ���� ���� G�E1

��  �� �#���!� �
 �*�  

) Ps(  ig2=y1+y2u

  y1=z0+J4

  y2=+z1  

         ��1� M��� ��
 6"� ����     G�E�1 �� �� ���-�/+�          p�"��)� \��)�� ��
I�� ���*

��  �"� �m��� �� p�������
 <���/��p :  

q
q

.
gdp

I
kg
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I
kg

kig

1t

1t

1

−

−

=

=

=

  

 �Z���V �

1tgdp

x

−
=λ�1��  ?�� p�#"��� p����� :  

) PQ(  g=ki2 λ  



  ���   ����	
� ��
�
�� ���� / ������� /  ������  

  �

q

I
i2 = ��� .       ���> ��� ��Z���Vig2         �"���]� �� ,�" ��* ig2      |#�[ ��� ��
  

G�E1    ��*45  �����  ?     p��*� ����+ �� <���= ���� �� ���� � ���� ?   ����]� ��
���[

��1� ��         �"���;� �� ," �* �� �>�� �� �
      ��� \�-[ ���+ �*  ? ���      ��� p������

p�*� ��B� �"� o�1 :  

) eg(  g=k[i0+ (1+α) ig2+βu]λ  

 G�E145 �����  

) eP(  g=k[i0+ (1+α) (C1u+C2) +βu]λ  

���� G�E1  

) ee(  g=k[i0+ (1+α) (d1u+d2) +βu]λ  

���� G�E1  

) eR(  g=k[i0+ (1+α) (y1+y2u) +βu]λ  

        <����
 ���;� _��� ���-/+� �1� M�� |���� 6"��   6"���      _����� �� G�E�1 

�� �T�[ L�3 ��1 .  

    <�]��� ����� ���� $��T �%>) g (��         ����� ,���b
��� ����� D��� �� p�����

 <����^���� |#[ �� N��]� �� ���p��
 ��c= �"� o�1 �� ��
 � :  

) et(  qL (t) =βemt[kL (t) ]α  

  �
qL    ��
 ����� �]�][ �����   ?kL      � ��
 ����� �"���� m       ��
 ���3 �3�B�5 M�� 

  �� 2�3 ���^    ��1 ���� . ���k/�) t (               �� ,�" ��* �"���]� ��
 ���� 6�"� �C�����

<��%�  � ����� ��*�� o�m� ���� �/#� �� ����� Y�� �1�� .  

  ���
���      �]�][ ����� 6�� a�!��� p�����) q* (  <�]��� ����� �) q (   $��T �� ��

p��
 i"�9� �"� .  

) ey(  q*α(t) = ef (u* (t)).q(t)  

 �
u* � ���E�� M�� �C���� ef (u* (t))  

     ������ ��� <�]���� ������ <��*� a�!��� ����

 �9+����� .�m���) ed (�� Y�� ����� $��T �� �� �1�� ���� :  



  ������� �!�"� �# ��$%&'� (�#� )� *�)�� �� ����	
� ��� +#�#� ��$��,  

) ed (  q*
L (t) = ef (u* (t)). L(t) (  

 �Z���V \�[f (u* (t)  (<��� w�U� $��T �� ��  �� ���E�� M�� ��u* �K� �� 

�
 ���� �� p"��C�  

) eh(  f (u* (t)) =θ. U*(t)  

   �� $��T 6"� ��             $���T �� �� ����� �]�][ ����� �0�� ��-/+� �m��� p�����

 p�#"��� �"�  

) es(  qL (t) =β[k (t)]α emt+θu* (t). eεt  

  �
εt      <��� �� \b8� �	)> t ��� .     ��
 �m"��1 ��u*      ��1�� ���T ������  .  ������

��� ��*��8 ����� <�]��� � �]�][ �����.
�

            ������ <��� ���>�� �)�� ���= ���/�� �� $W��9� 6"�PRhhHPRyg   ���=��� 

                   ����� �"����� ����>�� ��� a����� ����= ����/��� �� ���= I87� � ��� <�1 ��

   � �"�"��������  Y"�   ������� � ��B
 �        ���"� �Y
�� ,��� ����= ��* ���� .  ����=

6"�"�� � ����� �� �"���� ���>�� �� a����) PRhh (��� <�1 I8� .  

������ �	
��
���   

���� ����	
 ����
  

          ��B�
 �"���� ���>�� � ��
 ����� ���)� �
 �m"��1 �;�  ���    ���
   ��/3�
 

   �/"���;� }�* � ��1               ���V� ��-�/+� � ��1�� �/�1��� ���>� ��B
 ��-/+� ���� 

���E�  ��B� ����[ � �* ���� �T�[ �
 ������ ��Y��  <�]��� ����� ��1�� p�"�
 .  

   ����9� �� �>�� ��) es (��            �3�
 �K� �� �9���� ����� ���� �� �"� ��/8�� ����

<��� ���= �� <���/�� 6)& �
) hhHPRyg (��� � OLS=�� ���+ ������ .  

  ttUmt
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K
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Q
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⎛
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  �-.   ����	
� ��
�
�� ���� / ������� /  ������  

 �m��� 6"� ��
L

Q=����� �����  ?
L

K= ����� �"���� ut���E�� M��  ?= m M�� 

 ��3 �3�B�5= t � ���� β,α � \�� ���^ ��*�/����5 εt \b8� �	)> � ����� D��� 

 N��]� �� ���^ �*������� .  

�� ���=����� <��� �"� $��T �� \ :  

  tt0106.0U226.5
L

K
Ln49.0575.0

L

Q
Ln +−⎟

⎠

⎞

⎜

⎝

⎛+−=⎟
⎠

⎞

⎜

⎝

⎛

 (-6.92) (15.86) (-9. 97)  
F=155.24 DW=1.92 R2=0.97

      �� ��B� �� �= �;�&�� $��+ �
  �*� .       �"W�� (�/!#� ��)/�� lm� �� |"��& ��	


 ����!+ ���+ .         ��� ����� ����� �"���� ������ XB
 (��)&tQ/g      ������� XB�
 � 

  � ����� ��
  �yP/g   ��3 �3�B�5 M�� ) m (   �������� ���   ����      ����[ _���/� gd/P% 

��� .  

���9���� ������� ���=���� �� ���9� ?� �����
 \�k/��1� 2���3 ���� <�]����� ������� D����� 

�� ��
��� �!��;� ���+ �"� $��T �� �"���� � ��
 ����� ���
 .  

  

  q= 0. 563 e 0. 0106t. K0. 49. L0. 51

���� 	������
 ��	�  

 � u"�/�         \��> o�1 �� �3�E1 �� ��C�� $W��9� ���=�� �� a���) e (��  �1�� .

 \��> ��) e (<���=) t (           ��*���=�� ���	
 �� � ���� <��= Y/���5 �8�� ��) hHP ( ��

 ���� ����8�� ���!+ ���+ lm� . <����=  ��*) F) , DW, (R2
 (    ��9�&� �C����� Y���

 �*���=�� ��	
 |������� .

  



  ������� �!�"� �# ��$%&'� (�#� )� *�)�� �� ����	
� ��� +#�#� ��$�-0  

 �������	
 ��
�� ����� ���� ������ � ��� ��

1) g= 0. 396 i1  R2=0.97 DW=1.92

  (2.67)   

2) ip2= 0.0141 + 0.39 ig2 + 0.029 u R2= 0.757 DW= 1.73 F = 39.31 

 (2.09) (3.91) (1.968)   

3) ip15= -0.155 + 0.48 U R2= 0.9 DW= 1.66 F =119  

 (-2.74) (5.78)   

4) Z10= -0.1+0.2 U +0.043 Shoil R2=0.85 DW= 2.01 F=45 

 (3. 25) (3.9) (2.2)   

5) x2= -0.14+0.3 U R2=0.986 DW= 2.1 F=578 

 (-2.33) (6.18)   

6) mk2= -0046+0118 U R2=0.67 DW= 2.1 F=15 

 (-2.049) (3.22)   

7) mz2= -0.0061+0.171 i2 R2=0.76 DW= 2.02 F=24 

 (-3.61) (9.27)   

8) ig= -0.415 U -0.153  

9) ig=-0.2 U -0.1013  

10) ig=-0.949 U -0.41  

11) g= (-0.49+0.119U)λ

12) g= 0.077+0.235U)λ

13) g= (-0.216+0.522U)λ

  

����
 �
 ��	��� ��	�� ����  

) P(  DW=1.95R2=0.378g= 0.396 i1  

  ) 2.67(  

  |"�&i1  ����9� �� ) P (     �"����� �� ����� <��Y3� �!#� k1  ���� .    �!#�� �I��

   ����� �� �"���� <��Y3�) k (�����ye/e  ��� �*��8 .     ��1� ��C�� �� �>�� ��    ��*���H

 �� �����    �"���� ��Y�� ����  ��I
         @AB�� �1� M�� �� ����/�� ���� ���� ���� � 
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gdp.k

I
g =�� �T�[  ��1 .  

    �"���� �� �� �>�� ��   M��� �
    ��*        ��	8�� @���8�� ������ ��1� �  ?y/y %  �d% 

��/#*  ? �"���� �!#�  ��I
     �" ����� �� �
gdp

I
i1 =     �"���� �� ���� ��  $��T   ��"� 

�� ��� �� �"= .  

\�� ��"����  86.13%
gdp

I
52.2k,5.5%g =⇒==  

F�� ��"����  12.15%
gdp

I
52.2k,6%g =⇒==  

  u"�/���  ���     � �"���� �� ���� <��=  �� ��B  �*�  ?      ����� ���� <��� �* �� �


   �1� ��������  Y"�    �"���� �!#� L�3 <�1 �  ��I
         �"���]� ������ �"�� ����� �� �
 �

  �1�� <�1 ���=��  ?           ��1� ��Y�� ��B� �	)� �!#� 6"� �
 ����T �� �������   Y�"� �

   Y�� <�1��  ��� � �)  �"=  ?      �"����� X"�Y�3� �� �0�/� ��   ��I�
       ��1� ��Y��� ��
 �

�-/+��� X"�Y3� Y�� �� ���" .  

��	��� ���!�"�#$ %&
 '  

  

) e(ip2=0.0141+0.39 ig2 + 0.029 U        R2 =0.757       DW=1.73     F=39.31  

(1.968)(3.91)(2.09)

  

  |"�&RQ/g  ����9� �� ) e ( �� ��B�    �"���� �
 �*�  ��I
    �0�� ��W�� �/��� �

      �"���� � <�1 ����� F�[��� �^� ��  I
��    �� X"�Y3� �� �T�-8 �      �^� ��V �* �*�

 ����� F�[��� ��c   ����
  ����  .       ��� ��B�� u"��/� 6�"�            ����� ��> ��* ��
 ��*�

�"����  ��I
     ��� X"�Y3� �� ���8 �         �"����� X"�Y�3� `���� ��*�   ��I�
   X�A� �

�� �T�-8 ��1 .  

  �	�6"�  �
 �"����   ��I
  �� �/��� �    �������^7�   �"���� �� �!��   ��I
   X�A� �

  �T�-8             ����
�* ���-�/+� i�9& ��/8�� �"� _"��1 �� �
 �#�"� �1�� �/1��



  ������� �!�"� �# ��$%&'� (�#� )� *�)�� �� ����	
� ��� +#�#� ��$�-1  

 �"���� X"�Y3�  ��I
           <�� ���!+ �� ��/8��� �"� 6"� ��/#
 �%> �� �  ?   � �����=

 �� $���!���   ��"Y* �����     �"����� ���*   ��I�
          � <��� X*��
 �� �T�-�8 X�A� �

<�8{��    ��B� �= '"�B� |>��  .           � ��-�/+� ��/8��� ��� ��>�� ��� 6��Z)*   � ����"

 <���5 ��*��        ��� �"����"� (���� �
 ���� ����)� ��*  ?  ����93 '"�B� `���   ��* �

�� �T�-8 XA� ���1 .  

   ����9� 6"� �� <�b�) e ( �� ��B�             ��� ������� ���3�v �� <���/�� M�� �
 �*�

 �"���� ���A�  ��I
�    �T�-8 XA���^7� ����   ?��  ���       X"�Y�3� ��T�� ," �
 �

    v �� <���/�� M�� ����3�  ? �"���� ��Y��  ��I
 �T�-8 �?) ip2 (    <����� �� ��Q/e %

 �� X"�Y3� *�� . �� 6"������            ��-�/+� �� ������ ����93 ��W�� �>�� �
 ��
 ����

�"���� X"�Y3� `��� ��I
�� �T�-8 XA� � �1� .  

() *�����"�#$ %&
   

  

) R(  ip15= -0.155 + 0.48 U           R2= 0.9         DW= 1.66       F = 119  

 (5.78)  (-2.74) 

  

����9�) R (   ����9� �"45  �����    �� ��B� �T�-8 XA�        �� <���/�� M�� �
 �*�

  ��3�vQg %   $����k� ��45  ����� �T�-8 ) ip15 (  �� l�&�� ��      �"�%� ��� � �*�

 ��45 ����� ts %��� .  

 � +��� ��	� ,-
() *�����.��� %&
   

  

) t(  Z10= -0.1+0 2 U +0.043 Shoil      R2=0.85       DW= 2.01       F=45  

  (2.2)   (3.9)   (3.25)   

  

        |"�& �� ���� �b� �� �"�%� ���U  ����9� �� ) t ( �� �T�[      ��
 ��1eg %

�����1 6��Z)* �  �/�� ��*  Y����^7������ ���� �b� �� �!��  .  
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     ��3�v �� <���/�� M�� �� <�b�  ?    ���� �b� M�� ���   �	����      �� ���C"� ������ 

 ����� ��!+<      p/#�� � ������� �"�5 D)>  ���=   $����� ��^7�  ���         ������ ��
 ��"I�5

  ��
I���^7�     �/1�� ���� �b� �� ����    ����  ? ���   ����         �"��� $���^� _���/� ��
 �

  ��*��k/���^7�  ��I
   �� 45  �����          �>���8 <��%� M��� �� �>�� ���� �/��� ) P/gH (

���  ?   �/8���5 <�%� M�� �
�        ���k/� ����� �� �� ���8 �� ����  ��    p���
 �C�� ����  ?

��    p�����45  �����     p��
 ���A/�� �� �/��� XA�  .��  ��>     _��/� <�%� M�� ��k/� 

<��� �/8���5 <�%� M�� ��� <�]��� ����� �� �/!#� �
 i	/A� ��*) j4=. /0013 (

�� ���� ��  D��� �
 p��
45 ������"� $��T �� �� �/��� ��  �j��� �*� :  

  

  sg2= Z10-j4  

  sg2= -0.1+0.2 U 0.0013 →sg2 = -0.1013+0.2 U
  

 $����� �
�     �/3�"�� �C"� � �*    D"�� ���� ��*   ��"Y* �� ��        X"�Y�3� ����> ���*

 ����93 ����"     �� X"�Y3� ���-/+� ��*  ����" .          �� @���8�� ������ ��� $������ �!#�

  \��PRyg   �"�k� PRht   ���[ t   �T�� ���   �
     �"��� ��� �#�"�]� �� ���]� 6"�

    6�"�5 �	�8 �*��B
���              ��B�� �������� �b�� �"�%� M�� � 6�"�5 �!#� 6"� � 

�� ��"� ���"� ��-/+� �� ����� X]� ������� F�K� �
 �*��)�  ���
 .  

 /���	"  

  

) y(  x2= -0.14 + 0.35 U         R2=0. 986           DW= 2.1           F=578

 (6.18) (-2.33)  

  

            p"���C� ��K� �� ����� ���
 ���� ���� �� $����T �Z���V)    �����9�y (  ����

    $����T �� �"�%�Ry/g ���   �� ��B� �            ���W�� $�����T �� �"�%� ��� �
 �*�

             ��	� ������ X"�Y�3� � ��3�v �� <���/�� M�� X"�Y3� �� ��9"  ?    X"�Y�3� $�����T

��  ���"�         pK�� �)#+ �
 �1�� �>�� �"�� ���       F��8 ��� ���"� $����T ����   ��
 



  ������� �!�"� �# ��$%&'� (�#� )� *�)�� �� ����	
� ��� +#�#� ��$�-2  

              ������ ��	8�� ������ �� �m�� �= ���3 � F�8 ��� ���� �&�]� .      ��� a��!��� ��E	�

      ��%> �� ���-/+� '��� � �>��8 ��&�]�  ?      �/3�" �9��� ��*��B
 �� f�-8 ��

���� .  6"���7#�     �� ��� �)%� X�5   �����      ����"� �������T ��"���   ?    f�-�8 ���

     � ���� � F�8 ��� $����T             \��� ���*�/����5 �= �� �>�� �� ��
 �>�� �"�� �
 ����

��� <�1 ���=�� .  

'� �0��� '	�1	2 /�����  

  

) d (  mk2= -0.046 + 0.118 U          R2=0.67       DW= 2.1        F=15  

(3.22)  (-2.049)  

����9� �� �>�� ��) d (�m��� ��*W�
 $����� �� �"�%� ���  ��s/PP %��� .  

 = ���0�   �m��� ��*W�
 �
    ��      �� ��
 �� D"��T XA� �� ~���)�     �� 6"������ ����

    �� ���5 a�!��� ������ ��3�v  ���
 .  �C"� $��!� ��       ���*W�
 $����� ��� ���/[�

�m���  ��  ?         ����8��
 $W�-�;� ����� ���� �	8�� ��3�v �
 ���C�*    ��  X"�Y�3�

���"  ?  �1 �*��8 �/B��  ?  �C�6"�  �
   � D"��T ��          ��&�� �� ������ X"�Y�3� ��	8�

�m��� ��*W�
 �����  ������ ���� ?���
 $��T .  

'� ��	��� '	�1	2 /�����  

  

) h(  mz2= -0.0061+0.171 i2        R
2=0.76      DW= 2.02        F=24  

(9.27)  (-3.61) 

 ����9� '!�) h(?      �"���� ��*W�
 $����� �� �"�%� ���    ��P/Ph %��� . ���� 

)PhP/gHP (��   ����            ��	� <��1 ������ ���*W�
 p%�� ��)�& )  ��	8�� (  _����

�"����  ��I
    �� ��B� �� �	8�� �     � �*�PhP/g  ��*� ��B� <     ��	8�� ����� ��Y�� 

 �"���� _���  ��I
             $������� � D"���T �C/#��� ��Y�� D+�� �� �
 ��� �>��8 �
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�� ��B� �� ���8 � �8�� �*� .  

     "�� L�3 ��*�C�� ���=�� �� �9�    �
 �"�*�/����5 � ���   ����     � ����^  �����  ��  ? ����

�� �C��  �"� $��T �� ��1���.  

  

Mg2=0.0044 , sf= φ = 0.0071  

3��� ��45 '*	��6��   

                  �"����� �� �� �9���� F��� ������� �� �>�� �� �	8�� @��8�� ����� �1� M��

y/y %  �d %                �= ����� ��� ��>�� ��� <�]���� �	8�� @��8�� ����� �1� M�� �   �� �� 

  �"����y/e %  �h/e %  �"���� �1� �   ��I�
          �"����� �� �� ��/��� X�A� �Pg % �

PP % �"���� �� �� Y�� �3�-� $����� �1� �h %� y/h %<�1 �/3�
 �K� �� ��� .  

        �1� ��C�� �&�� �)� �� �>�� �� �0�/� ��   ��*���H    ��� ������       ��Y��� �����

�"���� ��I
 �� ���� ���� �X�5 ����� �
 ��
  �m��� �g=I/k. gdp �" I/gdp=k. g 

��  ��� ��  �"= .       ��1� ��"����� �� �� �>�� ��) g (    |"��& �k       ���=��� '�!� ��
 

  ����9�g=ki1    �� ����� RQd/g  ����  ? ���       �"����� �!#�� �����   ��I�
�) I/gdp ( ��

�� ���= ��� .  

    \�� ��"���� ��sd/PR%I/gdp=      F�� ��"���� �� � Pe/Py%I/gdp=  /#�* ��

�� ����9" ���1� ���� ������� ������ <��� ���* �������� Y��"� �!#��� ��
I��� <���1 �

�"����  ��I
         �1�� <�1 ���=�� �"��]� ����� �"�� ����� �� �
 �  ?     6�"� �
 ����T ��

      �1� ��Y�� ��B� �	)� �!#�������  Y"�   <�1 ���  ��� � �)   ��"=  ?      ��
 ����� ���

�"���� X"�Y3� �� �%�� ��I
"�Y3� Y�� ���-/+� �1� ��Y�� �
 ��� X ���" .  

 �"���� �/!��  ��I
        �"���� 6/���5 n�+� �� 2�3 �� �>�� �� �   ��I�
    � ��/��� �

����  ��  �"���� ����   ��I
    �T�-8 XA� ���  ���    ���� <���=  . �"�����   ��I�
 �

      ��C�� �� �>�� �� p* ���� ����  �*���H        �"����� �!#�� ���=��� � �����    ��I�
   ��� �

  �	8�� @��8�� �����) GDP ( ��"���� ��     ���[ �� \�� ss/PR %    ��"����� �� �

  F��Pe/Py %  ���    �!#� 6"� �V ���V �        �1� �� ��B� '];� �*������  Y"� <�1 � 



  ������� �!�"� �# ��$%&'� (�#� )� *�)�� �� ����	
� ��� +#�#� ��$�--  

�)� p��� .            \�� ��"���� �� ��3�v �� <���/�� M�� �T�� ," �1� ���� 6��Z)*

�"���� ��I
 ���� ���� �R/h% GDP F�� ��"���� �� � e/h% GDP ��� �*��8 .  

��   ���� �� �*   �1� �"45  �����       �1� �� �/)
 �T�-8 XA� 45   ������   X�A� 

   � �/���45  �����    �"���� �� �/B�� �
   ��I
   �
 ����    �1� � 45  �����   �/B�� �
 

 �"���� ��  ��I
  ��� �
 � .        Gb/�8� ����8 ��� 6"� 4�5  ������   � �T�-�8 X�A� 

�"����  ��I
     �� ��B� �
 ��� �T�-8 �       "���� X"�Y3� ���� F�W ��#��/5 �*� �

            G�E1 �"���� �� �� 6��Z)* � ���� ��>� �T�-8 XA� ��I
45  �����   ���>� 

�����.)  \��>R � t (  

   \���> �� �>�� ��) e (�) R (          G�E�1 � �!�� �"���� �� �* �� $����T @��8

  \�� ��"���� �� � ����� ��>� ���8 �� �/8���5 F�� <�%� M�� �� �>�� ���� ����

    �� �/B�� $����� _��/� �1�           $�����T _���/� �1� F�� ��"���� �� � $����T 

��� $����� �� �/B�� .  

���� 7	85 �� () *�������	� � '*��   

   ��Y�� �Z���VU       ����9� �� �� ������ \�� �* �� ) s ( \���>) e (   p��*� ����+ ?

   ��
��[ ��Y��ig   �
 45  �����   �"���� � �
   ��I
  �� ����� �       ��� �� �� �� ��
   ��*� .

 �
� 2�3 ����  ���> U ? ����]� dPs/g U=    ����� p��*� ����+ �� ig ���� PgR/g 

��  ��� ��  �"= .   �� ��#�� ��� 6"�        ��Y��� ��� ��
 ��1 PgR/g    G�E�1  4�5   ������ 

�"����  ��I
  ����� ��>� �  ?   �"���� ��Y�� �/+� ��9"  ��I
    �� ������ �PgR/g  ����3 

        G�E1 ����� ���� \�� �= �� �3�45  ����� ���� ���>�  .  ��/+�ig   ����� ������� 

  \��hs   �
 dR/g U=      ��Y�� p��
 <�*�B� ��� gRt/g ig= � ��B�   <��*�   6�"� 

      \�� �� �� �
 ���hs      G�E1 \�� ��"���� �� 45   ������         6��)* ��� ��
� p"����� 

     \�� �)* ���� �� ���= $��T            <�*�B�� p��
 ����� �"���� �� �� F�� ������ ��*

��  G�E1 F�� ������ �� �� �
 ��145 �����p"����  .  
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